

SOME IDENTITIES FOR q -BERNOULLI NUMBERS AND POLYNOMIALS ARISING FROM q -BERNSTEIN POLYNOMIALS

LEE-CHAE JANG, DAE SAN KIM, GWAN-WOO JANG, AND JONGKYUM KWON

ABSTRACT. In this paper, we study q -Bernoulli numbers and polynomials which are different from Carlitz q -Bernoulli numbers and polynomials and arising from p -adic invariant integrals on \mathbb{Z}_p , and investigate some properties of these numbers and polynomials. Then we will consider p -adic invariant integrals on \mathbb{Z}_p of the q -Bernstein polynomials and show that they can be expressed in terms of the q -Bernoulli numbers. In addition, from such p -adic invariant integrals we will derive some identities for the q -Bernoulli numbers.

1. Introduction

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p , respectively. The p -adic norm is normalized as $|p|_p = \frac{1}{p}$.

Let q be an indeterminate in \mathbb{C}_p such that $|1 - q|_p < p^{-\frac{1}{p-1}}$ and let $[x]_q = \frac{1 - q^x}{1 - q}$. Note that $\lim_{q \rightarrow 1} [x]_q = x$.

Assume that $f(x)$ is uniformly differentiable function on \mathbb{Z}_p . Then the p -adic q -integral on \mathbb{Z}_p is defined by Kim as

$$\int_{\mathbb{Z}_p} f(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N-1} f(x) q^x, \quad (\text{see [6 - 8]}), \quad (1.1)$$

and the p -adic invariant integral on \mathbb{Z}_p is given by

$$\int_{\mathbb{Z}_p} f(x) d\mu_1(x) = \lim_{q \rightarrow 1} \int_{\mathbb{Z}_p} f(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(x), \quad (\text{see [6 - 8]}). \quad (1.2)$$

From (1.2), we note that

$$\int_{\mathbb{Z}_p} f(x+1) d\mu_1(x) - \int_{\mathbb{Z}_p} f(x) d\mu_1(x) = f'(0), \quad (\text{see [6 - 8]}). \quad (1.3)$$

2000 *Mathematics Subject Classification.* 11B83; 11S80.

Key words and phrases. q -Bernoulli numbers, q -Bernoulli polynomials, p -adic q -Bernstein polynomials, p -adic q -Bernstein operators.

By (1.3), we easily get

$$\int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_1(y) = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (1.4)$$

where $B_n(x)$ are the ordinary Bernoulli polynomials.

When $x = 0$, $B_n = B_n(0)$, ($n \geq 0$), are called the Bernoulli numbers.

From (1.4), we can easily derive the following equation.

$$\int_{\mathbb{Z}_p} (x+y)^n d\mu_1(y) = B_n(x), \quad (n \geq 0), \quad (\text{see [6, 7, 13, 14, 16, 17]}). \quad (1.5)$$

From (1.3) and (1.5), we note that

$$B_0 = 1, \quad (B+1)^n - B_n = \begin{cases} 1, & \text{if } n = 1, \\ 0, & \text{if } n > 1, \end{cases}$$

with the usual convention about replacing B^n by B_n .

In [3, 4], L. Carlitz Considered q -Bernoulli numbers which are recursively given by

$$\beta_{0,q} = 1, \quad q(q\beta_q + 1)^n - \beta_{n,q} = \begin{cases} 1, & \text{if } n = 1, \\ 0, & \text{if } n > 1, \end{cases}$$

with the usual convention about replacing β_q^n by $\beta_{n,q}$.

He also defined q -Bernoulli polynomials given by

$$\beta_{n,q}(x) = \left(q^x \beta_q + [x]_q \right)^n = \sum_{l=0}^n \binom{n}{l} [x]_q^{n-l} q^{lx} \beta_{l,q}, \quad (n \geq 0), \quad (\text{see [3]}).$$

It is easy to show that $\lim_{q \rightarrow 1} \beta_{n,q} = B_n$, ($n \geq 0$).

In view of (1.4), we may consider the q -Bernoulli polynomials, different from Carlitz's q -Bernoulli polynomials, as follows:

$$\sum_{n=0}^{\infty} B_{n,q}(x) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} e^{[x+y]_q t} d\mu_1(y), \quad (\text{see [5]}). \quad (1.6)$$

When $x = 0$, $B_{n,q} = B_{n,q}(0)$, ($n \geq 0$), are called the q -Bernoulli numbers.

From (1.6), we note that the Witt's formula for q -Bernoulli polynomials is given by

$$B_{n,q}(x) = \int_{\mathbb{Z}_p} [x+y]_q^n d\mu_1(y), \quad (n \geq 0),$$

and

$$B_{n,q} = \int_{\mathbb{Z}_p} [x]_q^n d\mu_1(x), \quad (n \geq 0), \quad (\text{see [5, 11]}). \quad (1.7)$$

By (1.7), we easily get

$$B_{n,q}(x) = \sum_{l=0}^n \binom{n}{l} [x]_q^{n-l} q^{lx} B_{l,q} = \left(q^x B_q + [x]_q \right)^n, \quad (n \geq 0), \quad (1.8)$$

with the usual convention about replacing B_q^n by $B_{n,q}$.

From (1.2) and (1.7), we note that

$$B_{0,q} = 1, \quad (qB_q + 1)^n - B_{n,q} = \begin{cases} \frac{\log q}{q-1}, & \text{if } n = 1, \\ 0, & \text{if } n > 1. \end{cases}$$

For $x \in \mathbb{Z}_p$ and $n \in \mathbb{N} \cup \{0\}$, the p -adic q -Bernstein operators are given by

$$B_{n,q}(f|x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) \binom{n}{k} [x]_q^k [1-x]_{q^{-1}}^{n-k} = \sum_{k=0}^n f\left(\frac{k}{n}\right) B_{k,n}(x|q), \quad (1.9)$$

where $f(x)$ is continuous on \mathbb{Z}_p .

The p -adic q -Bernstein polynomials of degree n are defined by

$$B_{k,n}(x|q) = \binom{n}{k} [x]_q^k [1-x]_{q^{-1}}^{n-k}, \quad (\text{see [2, 9]}), \quad (1.10)$$

where $n, k \geq 0$, and $x \in \mathbb{Z}_p$.

Note that $\lim_{q \rightarrow 1} B_{k,n}(x|q) = B_{k,n}(x)$, where $B_{k,n}(x) = \binom{n}{k} x^k (1-x)^{n-k}$ are the ordinary Bernstein polynomials of degree n (see [1, 10, 12 – 15, 17, 18, 19, 20]).

In this paper, we study q -Bernoulli numbers and polynomials which are different from Carlitz q -Bernoulli numbers and polynomials and arising from p -adic invariant integrals on \mathbb{Z}_p , and investigate some properties of these numbers and polynomials. Then we will consider p -adic invariant integrals on \mathbb{Z}_p of the q -Bernstein polynomials and show that they can be expressed in terms of the q -Bernoulli numbers. In addition, from such p -adic invariant integrals we will derive some identities for the q -Bernoulli numbers.

2. Some integrals for q -Bernstein polynomials and their connections with q -Bernoulli numbers

First, we observe that

$$\int_{\mathbb{Z}_p} [1-x+y]_{q^{-1}}^n d\mu_1(y) = (-1)^n q^n \int_{\mathbb{Z}_p} [x+y]_q^n d\mu_1(y), \quad (n \geq 0). \quad (2.1)$$

By (1.7) and (2.1), we get

$$B_{n,q^{-1}}(1-x) = (-1)^n q^n B_{n,q}(x), \quad (n \geq 0). \quad (2.2)$$

From (1.7), we note that

$$B_{0,q}(x) = 1, \quad B_{n,q}(x) = \frac{\log q}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l q^{lx} \frac{l}{q^l - 1}. \quad (2.3)$$

Thus, from (2.3) we can derive the generating function for $B_{n,q}(x)$ as follows:

$$\begin{aligned} F(t, x) &= e^{\frac{t}{1-q}} + \frac{\log q}{1-q} t \sum_{m=0}^{\infty} q^{x+m} e^{[x+m]_q t} \\ &= \sum_{n=0}^{\infty} B_{n,q}(x) \frac{t^n}{n!}. \end{aligned} \quad (2.4)$$

Now, for $n > 1$, we observe that

$$\begin{aligned}
 B_{n,q}(2) &= (q^2 B_q + 1 + q)^n = (q(qB_q + 1) + 1)^n = \sum_{l=0}^n \binom{n}{l} q^l (qB_q + 1)^l \\
 &= 1 + \binom{n}{1} q(qB_q + 1) + \sum_{l=2}^n \binom{n}{l} q^l (qB_q + 1)^l \\
 &= 1 + nq \left(\frac{\log q}{q-1} + B_{1,q} \right) + \sum_{l=2}^n \binom{n}{l} q^l B_{l,q} \\
 &= nq \frac{\log q}{q-1} + \sum_{l=0}^n \binom{n}{l} q^l B_{l,q} \\
 &= nq \frac{\log q}{q-1} + (qB_q + 1)^n = nq \frac{\log q}{q-1} + B_{n,q}.
 \end{aligned} \tag{2.5}$$

Therefore we obtain the following theorem.

Theorem 2.1. *For $n \geq 0$, we have*

$$B_{n,q^{-1}}(1-x) = (-1)^n q^n B_{n,q}(x).$$

In particular, if $n \in \mathbb{N}$ with $n > 1$, then we have

$$B_{n,q}(2) = nq \frac{\log q}{q-1} + B_{n,q}.$$

For $n > 1$, from Theorem 2.1, we note that

$$\begin{aligned}
 \int_{\mathbb{Z}_p} [x]_q^n d\mu_1(x) &= \int_{\mathbb{Z}_p} [x+2]_q^n d\mu_1(x) - nq \frac{\log q}{q-1} \\
 &= (-1)^n q^{-n} \int_{\mathbb{Z}_p} [x-1]_{q^{-1}}^n d\mu_1(x) - nq \frac{\log q}{q-1} \\
 &= \int_{\mathbb{Z}_p} [1-x]_q^n d\mu_1(x) - nq \frac{\log q}{q-1}.
 \end{aligned} \tag{2.6}$$

Therefore, by (2.6), we obtain the following theorem.

Theorem 2.2. *For $n \in \mathbb{N}$ with $n > 1$, we have*

$$\int_{\mathbb{Z}_p} [1-x]_q^n d\mu_1(x) = \int_{\mathbb{Z}_p} [x]_q^n d\mu_1(x) + nq \frac{\log q}{q-1}.$$

By (1.10), we easily get

$$B_{n-k,n}(1-x|q^{-1}) = B_{n,k}(x|q), \quad (n, k \geq 0). \tag{2.7}$$

Thus, for $m, n \in \mathbb{N} \cup \{0\}$ with $n - k > 1$ and from Theorem 2.2, we have

$$\begin{aligned}
 \int_{\mathbb{Z}_p} B_{k,n}(x|q)d\mu_1(x) &= \int_{\mathbb{Z}_p} B_{n-k,n}(1-x|q^{-1})d\mu_1(x) \\
 &= \binom{n}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \int_{\mathbb{Z}_p} [1-x]_{q^{-1}}^{n-l} d\mu_1(x) \\
 &= \binom{n}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \left(B_{n-l,q^{-1}} + (n-l) \frac{\log q}{q-1} \right) \\
 &= \binom{n}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} B_{n-l,q^{-1}} + \binom{n}{k} \frac{n \log q}{q-1} \delta_{k,0} \\
 &\quad - \frac{k \log q}{q-1} \binom{n}{k} \delta_{k,1} \\
 &= \begin{cases} B_{n,q^{-1}} + n \frac{\log q}{q-1}, & \text{if } k = 0, \\ n(B_{n-1,q^{-1}} - B_{n,q^{-1}}) - n \frac{\log q}{q-1}, & \text{if } k = 1, \\ \binom{n}{k} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} B_{n-l,q^{-1}}, & \text{if } k > 1. \end{cases} \tag{2.8}
 \end{aligned}$$

Note here that $\delta_{k,n}$ are the Kronecker's delta. On the other hand, noting that

$$[1-x]_{q^{-1}} = 1 - [x]_q, \tag{2.9}$$

we have

$$\begin{aligned}
 \int_{\mathbb{Z}_p} B_{k,n}(x|q)d\mu_1(x) &= \binom{n}{k} \int_{\mathbb{Z}_p} [x]_q^k [1-x]_{q^{-1}}^{n-k} d\mu_1(x) \\
 &= \binom{n}{k} \sum_{l=0}^{n-k} \binom{n-k}{l} (-1)^l \int_{\mathbb{Z}_p} [x]_q^{l+k} d\mu_1(x) \\
 &= \binom{n}{k} \sum_{l=0}^{n-k} \binom{n-k}{l} (-1)^l B_{k+l,q}.
 \end{aligned} \tag{2.10}$$

Therefore, by (2.8) and (2.10), we obtain the following theorem.

Theorem 2.3. *Let $n, k \in \mathbb{N} \cup \{0\}$ with $n > k + 1$.*

For $k > 1$, we have

$$\sum_{l=0}^k \binom{k}{l} (-1)^{k-l} B_{n-l,q^{-1}} = \sum_{l=0}^{n-k} \binom{n-k}{l} (-1)^l B_{l+k,q}.$$

In particular,

$$B_{n-1,q^{-1}} - B_{n,q^{-1}} - n \frac{\log q}{q-1} = \sum_{l=0}^{n-1} \binom{n-1}{l} (-1)^l B_{l+1,q},$$

and

$$B_{n,q^{-1}} + n \frac{\log q}{q-1} = \sum_{l=0}^n \binom{n}{l} (-1)^l B_{l,q}.$$

For $m, n, k \in \mathbb{N} \cup \{0\}$ with $m + n > 2k + 1$, we have

$$\begin{aligned}
 \int_{\mathbb{Z}_p} B_{k,n}(x|q)B_{k,m}(x|q)d\mu_1(x) &= \binom{n}{k} \binom{m}{k} \int_{\mathbb{Z}_p} [x]_q^{2k} [1-x]_{q^{-1}}^{n+m-2k} d\mu_1(x) \\
 &= \binom{n}{k} \binom{m}{k} \sum_{l=0}^{2k} \binom{2k}{l} (-1)^{2k-l} \int_{\mathbb{Z}_p} [1-x]_{q^{-1}}^{n+m-l} d\mu_1(x) \\
 &= \binom{n}{k} \binom{m}{k} \sum_{l=0}^{2k} \binom{2k}{l} (-1)^{2k-l} \left(B_{n+m-l, q^{-1}} + (n+m-l) \frac{\log q}{q-1} \right) \\
 &= \binom{n}{k} \binom{m}{k} \sum_{l=0}^{2k} \binom{2k}{l} (-1)^{2k-l} B_{n+m-l, q^{-1}} \\
 &\quad + \binom{n}{k} \binom{m}{k} \delta_{k,0} \frac{\log q}{q-1} (n+m) \\
 &= \begin{cases} B_{n+m, q^{-1}} + (n+m) \frac{\log q}{q-1}, & \text{if } k = 0, \\ \binom{n}{k} \binom{m}{k} \sum_{l=0}^{2k} \binom{2k}{l} (-1)^{2k-l} B_{n+m-l, q^{-1}}, & \text{if } k \geq 1. \end{cases} \quad (2.11)
 \end{aligned}$$

On the other hand,

$$\begin{aligned}
 \int_{\mathbb{Z}_p} B_{k,n}(x|q)B_{k,m}(x|q)d\mu_1(x) &= \binom{n}{k} \binom{m}{k} \int_{\mathbb{Z}_p} [x]_q^{2k} [1-x]_{q^{-1}}^{n+m-2k} d\mu_1(x) \\
 &= \binom{n}{k} \binom{m}{k} \sum_{l=0}^{n+m-2k} \binom{n+m-2k}{l} (-1)^l \int_{\mathbb{Z}_p} [x]_q^{2k+l} d\mu_1(x) \\
 &= \binom{n}{k} \binom{m}{k} \sum_{l=0}^{n+m-2k} \binom{n+m-2k}{l} (-1)^l B_{2k+l, q}. \quad (2.12)
 \end{aligned}$$

Therefore, by (2.11) and (2.12), we obtain the following theorem.

Theorem 2.4. *Let $m, n, k \in \mathbb{N} \cup \{0\}$ with $m + n > 2k + 1$.*

For $k \geq 1$, we have

$$\sum_{l=0}^{n+m-2k} \binom{n+m-2k}{l} (-1)^l B_{2k+l, q} = \sum_{l=0}^{2k} \binom{2k}{l} (-1)^{2k-l} B_{n+m-l, q^{-1}}.$$

In particular, when $k = 0$, we have

$$B_{n+m, q^{-1}} + (n+m) \frac{\log q}{q-1} = \sum_{l=0}^{n+m} \binom{n+m}{l} (-1)^l B_{l, q}.$$

For $s \in \mathbb{N}$, with $s \geq 2$, let $k, n_1, n_2, \dots, n_s \in \mathbb{N} \cup \{0\}$, with $\sum_{i=1}^s n_i > sk + 1$. Then we have

$$\begin{aligned}
 \int_{\mathbb{Z}_p} \prod_{i=1}^s B_{k,n_i}(x|q) d\mu_1(x) &= \prod_{i=1}^s \binom{n_i}{k} \int_{\mathbb{Z}_p} [x]_q^{sk} [1-x]_{q^{-1}}^{n_1+\dots+n_s-sk} d\mu_1(x) \\
 &= \prod_{i=1}^s \binom{n_i}{k} \sum_{l=0}^{sk} \binom{sk}{l} (-1)^{sk-l} \int_{\mathbb{Z}_p} [1-x]_{q^{-1}}^{n_1+\dots+n_s-l} d\mu_1(x) \\
 &= \prod_{i=1}^s \binom{n_i}{k} \sum_{l=0}^{sk} \binom{sk}{l} (-1)^{sk-l} \left(B_{n_1+\dots+n_s-l, q^{-1}} \right. \\
 &\quad \left. + \left(\sum_{i=1}^s n_i - l \right) \frac{\log q}{q-1} \right) \\
 &= \prod_{i=1}^s \binom{n_i}{k} \left\{ \sum_{l=0}^{sk} \binom{sk}{l} (-1)^{sk-l} B_{n_1+\dots+n_s-l, q^{-1}} \right. \\
 &\quad \left. + \left(\sum_{i=1}^s n_i \right) \frac{\log q}{q-1} \delta_{k,0} \right\} \tag{2.13} \\
 &= \begin{cases} B_{n_1+\dots+n_s, q^{-1}} + \left(\sum_{i=1}^s n_i \right) \frac{\log q}{q-1}, & \text{if } k = 0, \\ \prod_{i=1}^s \binom{n_i}{k} \sum_{l=0}^{sk} \binom{sk}{l} (-1)^{sk-l} B_{n_1+\dots+n_s-l, q^{-1}}, & \text{if } k \geq 1. \end{cases}
 \end{aligned}$$

On the other hand,

$$\begin{aligned}
 \int_{\mathbb{Z}_p} \prod_{i=1}^s B_{k,n_i}(x|q) d\mu_1(x) &= \prod_{i=1}^s \binom{n_i}{k} \int_{\mathbb{Z}_p} [x]_q^{sk} [1-x]_{q^{-1}}^{n_1+\dots+n_s-sk} d\mu_1(x) \\
 &= \prod_{i=1}^s \binom{n_i}{k} \sum_{l=0}^{n_1+\dots+n_s-sk} \binom{n_1+\dots+n_s-sk}{l} (-1)^l \int_{\mathbb{Z}_p} [x]_q^{sk+l} d\mu_1(x) \tag{2.14} \\
 &= \prod_{i=1}^s \binom{n_i}{k} \sum_{l=0}^{n_1+\dots+n_s-sk} \binom{n_1+\dots+n_s-sk}{l} (-1)^l B_{sk+l, q}.
 \end{aligned}$$

Therefore, by (2.13) and (2.14), we obtain the following theorem.

Theorem 2.5. For $s \in \mathbb{N}$, with $s \geq 2$, let $k, n_1, n_2, \dots, n_s \in \mathbb{N} \cup \{0\}$ with $n_1 + n_2 + \dots + n_s > sk + 1$. For $k \geq 1$, we have

$$\sum_{l=0}^{n_1+\dots+n_s-sk} \binom{n_1+\dots+n_s-sk}{l} (-1)^l B_{sk+l, q} = \sum_{l=0}^{sk} \binom{sk}{l} (-1)^{sk-l} B_{n_1+\dots+n_s-l, q^{-1}}.$$

In particular, when $k = 0$, we have

$$B_{n_1+\dots+n_s, q^{-1}} + \left(\sum_{i=1}^s n_i \right) \frac{\log q}{q-1} = \sum_{l=0}^{n_1+\dots+n_s} \binom{n_1+\dots+n_s}{l} (-1)^l B_{l, q}.$$

3. Conclusion

Here we studied q -Bernoulli numbers and polynomials which are different from Carlitz q -Bernoulli numbers and polynomials. They arise naturally from some p -adic invariant integrals on \mathbb{Z}_p , as indicated by (1.6). After investigating some properties of these numbers and polynomials, we considered p -adic invariant integrals on \mathbb{Z}_p of the q -Bernstein polynomials and showed that they can be expressed in terms of the q -Bernoulli numbers.

Along the same line, we can introduce a q -analogue of Euler numbers and polynomials by considering the p -adic fermionic integrals instead of the p -adic invariant integrals on \mathbb{Z}_p . Then we can investigate fermionic p -adic integrals on \mathbb{Z}_p of the q -Bernstein polynomials and reveal their connections with those q -analogues of q -Euler numbers. These will appear as a separate paper.

References

1. T. Kim, *A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 1, 5–11.
2. A. Bayad, T. Kim, *Identities involving values of Bernstein, q -Bernoulli, and q -Euler polynomials*, Russ. J. Math. Phys. 18 (2011), no. 2, 133–143.
3. L. Carlitz, *q -Bernoulli and Eulerian numbers*, Trans. Amer. Math. Soc. 76. (1954), 322–350.
4. L. Carlitz, *q -Bernoulli numbers and polynomials*, Duke Math. J. 15, (1948), 987–1000.
5. T. Kim, *On p -adic q -Bernoulli numbers*, J. Korean Math. Soc. 37 (2000), no. 1, 21–30.
6. T. Kim, *On a q -analogue of the p -adic log gamma functions and related integrals*, J. Number Theory. 76 (1999), no. 2, 320–329.
7. T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys. 9 (2002), no. 3, 288–299.
8. T. Kim, *A note on q -Volkenborn integration*, Proc. Jangjeon Math. Soc. 8 (2005), no. 1, 13–17.
9. T. Kim, *A note on q -Bernstein polynomials*, Russ. J. Math. Phys. 18 (2011), no. 1, 73–82
10. T. Kim, *Identities on the weighted q -Euler numbers and q -Bernstein polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) 22 (2012), no. 1, 7–12.
11. T. Kim, H.S. Kim, *Remark on p -adic q -Bernoulli numbers*, Algebraic number theory(Hapcheon/Saga, 1996), Adv. Stud. Contemp. Math. 1 (1999), 127–136.
12. V. Kurt, *Some relation between the Bernstein polynomials and second kind Bernoulli polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 1, 43–48.
13. S. Ostrovska, *On the q -Bernstein polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) 11 (2005), no. 2, 193–204.
14. S.-H. Rim, J. Jung, J.-H. Jin, S.-H. Lee, *A note on the weighted Carlitz's type q -Euler numbers and q -Bernstein polynomials*, Proc. Jangjeon Math. Soc. 15 (2012), no. 2, 195–201.
15. T. Kim, B. Lee, J. Choi, Y. H. Kim, S.H. Rim, *On the q -Euler numbers and weighted q -Bernstein polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) 21 (2011), no. 1, 13–18.
16. K. Shiratani, S. Yokoyama, *An application of p -adic convolutions*, Mem. Fac. Sci. Kyushu Univ. Ser. A 36 (1982), no. 1, 73–83.
17. L.C. Jang, T. Kim, D. S. Kim, D. V. Dolgy, *On p -adic fermionic integrals of q -Bernstein polynomials associated with q -Euler numbers and polynomials*, Symmetry 2018, 10(8), 311.
18. M. A. Siddiqui, R.R. Agrawal, N. Gupta, *On a class of modified new Bernstein operators*, Adv. Stud. Contemp. Math. (Kyungshang) 24 (2014), no. 1, 97–107.
19. S. Bernstein, *Dmonstration du thorme deWeierstrass fonde sur le calcul des probabilities*, Comm. Soc. Math. Kharkov 2. (1912), 1–2.
20. T. Tunc, E. Simsek, *Some approximation properties of Szs-Mirakjan-Bernstein operators*, Eur. J. Pure Appl. Math. 7. (2014), 419–428.

GRADUATE SCHOOL OF EDUCATION, KONKUK UNIVERSITY, SEOUL, REPUBLIC OF KOREA
E-mail address: `Lcjang@konkuk.ac.kr`

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL, REPUBLIC OF KOREA
E-mail address: `dskim@sogang.ac.kr`

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL, REPUBLIC OF KOREA
E-mail address: `gwjang@kw.ac.kr`

DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY,
JINJU, REPUBLIC OF KOREA(CORRESPONDING AUTHOR)
E-mail address: `mathkjk26@gnu.ac.kr`